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HRETEAR P 2/ -6 [kpa] mm MPa MPa N
HREtRE T 90 [°C] fAE#—dt 25500 0.0020 0.0000 0 BEEE
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2 EERESF fl8¥-d2 8,100 0.0020 0.0000 0, BBk Y ZER
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3 PtiE {B B2 3 10,900 3 9 12 5,639
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fEE-dt 1 2500 621 0.0020 304 12.0
fIEE-d1 2 5,300 62.1 0.0020 ; 3.04 12.0
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{22 —d3 4 10,900 62.1 0.0020 3.04 12.0
{8122 —db 5 13,700 62.1 0.0257 3.46 12.0
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Pe: AEERNEICRBELE-RBRRURRBEHFEICLIEND1.671
RBBEVURBRETEICLLSESN: pw

Kik: tr-p,g= 161.8 [Pa]
Ma=0.25(3+4 (Ra/ro)) BE: sp = 0.0 [Pa]
_HE#E: BE/Af-_ 6449 [Pa]
2 pw = 806.8 [Pa]
FERARE (BIRE®: Arf= 38 [m2])
7 [mm] OK (BRIRE: tr= 10.0 [mm])
Po: SREH S EH(PI+RIRFT EIZ LB E H(pwx10™°) 0.0068 [MPa]
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